Max Marks : 100

ALL INDIA TRADE TEST - 2025 FOR CRAFT
INSTRUCTOR TRAINING SCHEME - ENTRANCE
EXAMS
Trade Name: Electrician and Wireman
Year: 1st Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (1 Marks each)

3. There is no negative marking

I
I\SI;. QID Question Body and Alternatives Marks
TRADE THEORY N 2
1 Which of the following units is the correct one for the apparent power? 1.0
Frofafed # @ o1 6 s wp e & forg w8t 82
Al:VA
VA
A2:W
w
A3: VAR
VAR
A4 : MW
MW
~ . TRADE THEORY
2 What length of over lapping portion to be provided for straight joint of 19 mm width batten in batten wiring? 1.0

ST AT & Y TR W 19 mm TSTE P OGP 107T SR TRT HRT BT SIaTS [t oI A1Me?

Al: 12 mm
12 mm

A2 :25 mm
25 mm

A3 :30 mm
30 mm

A4 : 40'mm
40 mm

TRADE THEORY

3 Which type of insulation is used for the heating element of rod type immersion heater? 1.0

A& THR & fage giex & AT I & o g TR & SYARM &7 IuanT faar S 82

Al:PVC
PVC

A2 : Mineral oxide
G SiIeS

A3 : Mica
HYDh

Negative
Marks

0.00




A4 : Porcelain

TRADE THEORY

What is the normal temperature of the heating element used in the domestic heating appliances?
TR AT JUBRUN H Ygad BT ded BT A= ATIHT T 82

A1 :550°C to 900°C
550°C to 900°C

A2 :335°C to 635°C
335°C to 635°C

A3 :200°C to 335°C
200°C to 335°C

A4 :100°C to 135°C
100°C to 135°C

TRADE THEORY

What is the temperature that a gas filled tungsten filament lamp operates?

IE B I ITOHA & S 19 § 1R <R fharic 34U &1 FareH $dl 82

Al:1035°C
1035°C

A2:1200°C
1200°C

A3:1500°C
1500°C

A4 :2700°C
2700°C

TRADE THEORY

Which tool is to be used to mark aTong vertical run for installing a cable run on wall?

IR W B T P (L 8 SR T B! FRifgd B & e fobg Iuem=or &1 IuanT foar s 82

Al : Water level
EIEIEIRSN

A2 : Spirit leyel
YT TR

A3 : Folding rule
g &1

A4 : Plumb bob
ISCEIE]

TRADE THEORY

Which type of insulators are used to take the tension of the conductors terminated at dead ends?

9 UPR & ST BT ST Jd RRT IR JH 811 I1d Freaex] & a-1d Bl o & fod fbar s 82

Al : Pin insulators

A2 : Shackle insulators

A5d 3gAR

1.0 0.00
1.0 0.00
1.0 0.00
1.0 0.00




10

10

A3 : Suspension insulators

A4 : Disc insulators

TRADE THEORY

What should be the minimum value of insulation resistance is needed for the safe operation of a water heater?

Tlex Biex & YRI&T YareH & f eI UioRTY &1 gAad Yoo fhaT g1 a1ge?

Al : 1 Meg ohm
1 Meg ohm

A2 :2 Meg ohm
2 Meg ohm

A3 :0.5 Meg ohm
0.5 Meg ohm

A4 :0.25 ohm
0.25 ohm

TRADE THEORY

What is the back ground colour of warning signs in the basic category?

et Aoft & Aararit & Thal B T SMUR |2

Al : Blue

e

A2 : White

A3 : Yellow

A4 : Green
el

TRADE THEORY

Which is the capacity of secondary cell?

fofiae Ja o) emar B G 32

Al : Volt-ampere
Volt—-ampere

A2 Kilo—Watt
Kilo-Watt

A3 : Watt-hour
Watt-hour

A4 : Ampere-hour
Ampere-hour

TRADE THEORY

Which of the following units is the correct one for the reactive power?

Frafied & & o i gor$ uldfhareiier wfe & o et 82

Al : VA
VA

A2:W

0.00
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13

12

13

A3 : VAR
VAR

A4 : MW
MW

TRADE THEORY

Which of the following materials is a diamagnetic substance?

fRafafed & @ o9 a1 uer te samifes uarf 32

Al : Platinum

A2 : Glass

A3 : Copper
GIEH

A4 : Aluminium

TRADE THEORY

What is the application of an electrolytic — aluminium capacitor?

TS SAICSICd . TegHif-ae HeTie & Sde & o2

Al : High frequency circuits
I 3M1gfal Fiche

A2 : RF coupling circuits
3R U T |ihe

A3 : Oscillator circuits

A4 : Power supplies and filter circuits

frotelt 1 Syfd SR ftheex |idhe

TRADE THEORY

What is the main cause for below:0.5 lagging power factor in 3 phase system?

3 TROT e 7 0.5 AR YR Paex & = T HROT 1 82

A1l : Duedo fluctuation of voltage
IS & SAR GId & HRUI

A2 : True/power due to resistive load

RIS YR & SR Yfdd

A3 : Reactive power due to more inductive load
3 IR HR & HRUI

A4 : Reactive power due to more capacitive load
S & B0

TRADE THEORY

What is the total capacitance of two capacitors C; & C, connected in series?

IT A IS F FIRIR ¢, R ¢, B Hd eAAT FTR?

Al : Less than the smallest capacitance

a9 Bl Wl ¥ HH




16

17

18

19

16

17

18

19

A2 : More than the highest capacitance

IaH Wl 9 3ifde

A3 : Equal to the highest capacitance
IHdH Wl & SRR

A4 :Equalto C; +C,
Cp+C, B IR

TRADE THEORY

What is the standard rated value of secondary current of a current transformer?

A TBTER & Fdiae aeHH o1 AMS 3es Ied 187

Al : 5 Ampere or 10 Ampere
5 Ampere or 10 Ampere

A2 :2.5 Ampere or 5 Ampere
2.5 Ampere or 5 Ampere

A3 : 1.5 Ampere or 6 Ampere
1.5 Ampere or 6 Ampere

A4 : 1 Ampere or 5 Ampere
1 Ampere or 5 Ampere

TRADE THEORY

What is the correct position of instrument having gravity control?

TR YU =0T T SUHRYT T el fRufa o 29

Al : Vertical using position

JeateR R &1 UaT S

A2 : Horizontal using position
fRufcr 1 SugRT HAT

A3 : Diagonal using position

oo fRufa &1 I S

A4 : Any position

fopadh oft FRufar &

TRADE THEORY

What is the total capacitancerof two equal capacitors 1uF each are connected in series?

3 GHTE HUARCIULF B B THTS 1 Udeb e 8 S gU 2

Al': 0.25uF
0.25°uF

A2:0.50 pF
0.50 uF

A3:1.00 uF
1.00 pF

A4:2.00 uF
2.00 pF

TRADE THEORY

What is the work done if a force of 2 Newton moves the object through a distance of 1 metre?

g 1| e P ¥ 2 YT 1 96 o B RIMTART Bl 24 al a1 S fbar ST 82

Al : 1 Joule
1 Joule

0.00
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21

22

23

20

21

22

23

A2 :2 Joule
2 Joule

A3 : 1 Watt
1 Watt

A4 : 2 Watt
2 Watt

TRADE THEORY

Which defect in timber is caused due to improper seasoning?

3frd FIFT S PRI bt i B AT IS 72

Al : Knot
Rlire)

A2 : Twisting
Hrg

A3 : Cracking
Eacall

A4 : Cupping
HUAT

TRADE THEORY

What width of teak wood batten are commercially available for batten wiring?

Yo I & T GriH &) dehal Bl B ) AeTS ARG U A SUde 87

Al :5mm, 10 mm, 15 mm
5 mm, 10 mm, 15 mm

A2 : 8 mm, 10 mm, 12 mm
8 mm, 10 mm, 12 mm

A3 : 12 mm, 19 mm, 25 mm
12 mm, 19 mm, 25 mm

A4 : 19 mm, 25 mm, 35 mm
19 mm, 25 mm, 35 mm

TRADE THEORY

What will be theuminimum thickness of teak wood batten to be used in batten wiring?

e IARETE IUTNT BT S dTe TR B adbel B IAaH Hiers a1 g

Al:8mm
8 mm

A2:10 mm
10 mm

A3:19 mm
19 mm

A4 :25 mm
25 mm

TRADE THEORY

Which maximum value current gives electric shock and leads to death?

DI T 3BT 7T fISTeh BT FedT 31 § St Jog BT HRUT Fa-T 82

Al :8mA
8 mA

1.0 0.00
1.0 0.00
1.0 0.00
1.0 0.00
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25

26

27

24

25

26

27

A2 :15mA
15 mA

A3:50 mA
50 mA

A4 :100 mA
100 mA

TRADE THEORY

What is the accuracy of a try square?

TP WIR I &) Flhar A1 2

Al :0.002 mm per 10 mm length
0.002 mm W 10 mm B} TS

A2:0.001 mm per 10 mm length
0.001 mm Ufd 10 mm St

A3:0.010 mm per 10 mm length
0.010 mm ¥ 10 mm Bt

A4 :0.020 mm per 10 mm length
0.020 mm ¥fd 10 mmﬁ?‘l’@'l_sE

TRADE THEORY

How is the negative terminal of a car battery identified?

PR Je3 B THRIHD fH-el Bl UgaH H PI Sl 32

Al : Always connected to chassis

0 TR e

A2 : Marked in red colour
T H sifeq

A3 : Thin in size
SHIHR | gdan
A4 : Marked in blue colour

RISRUEK IET)

TRADE THEORY

Which of the following materials is a paramagnetic substance?

Fafefad s e a1 uerf te srefres uarf 32

Al Tron
SRR

A2 : Glass
RINIRS)

A3 : Aluminium

A4 : Nickel

TRADE THEORY

What is the permissible wattage of a power sub circuit as per IE rules in domestic wiring?

TG AR TR TG H 1E il & 38R T faoielt Sutifhe o7 3/a aTe &ar 31 89

1.0 0.00
1

1.0 0.00
1.0 0.00
1.0 0.00
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29

30

31

28

29

30

31

Al:3.0kW
3.0kW

A2:39kW
3.9kW

A3:4.0kW
4.0 kW

A4:4.6 kW
4.6 kW

TRADE THEORY

What is the rated value of secondary voltage for single phase and 3 phase potential transformer as per IE rule?

IE W & SR Thd TRUT 3R 3 =R GHIfAd SRR & o fgcdios diecsl o1 3¢S Jea | g?

Al:240Vand 415V
240 Vand 415V

A2:230Vand 400 V
230 V and 400 V

A3:220Vand 380V
220 Vand 380 V

A4:100Vand 110V
100 Vand 110 V

TRADE THEORY U

While running a food mixer in the house, there is a lot of interference in the radie and*TV. The most likely reason is ...

TR T 8 TR IaH & SRIY TN 3R At 7 95 38 glal & | To- YHTAdT PRUT |

Al : phase and neutral are interchanged in the socket

3R Ted Hide § IS §U

A2 : the capacitor across the brushes is open

Y R Ui ga g

A3 : the capacitor across the brushes is short
TR A gaRA HH

A4 : there is short circuit in the field winding

& ¥ ifc |ihe Bl o

TRADE THEORY

Which of the following materials is a ferromagnetic substance?

FEIREaH o 1 a1 uar T tREwe® uar 82

Al : Platinum
A2 : Aluminium
A3 : Steel

Aé : Copper
DR

TRADE THEORY

Which place the tree system of wiring is most suitable?

rafaT o1 & Red 5w W 99 IugEd 77

0.00

0.00

0.00
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34

35

32

33

34

35

Al : Godown wiring

A2 : Industrial wiring

A3 : Domestic wiring

ERGEIRIRY

A4 : Multi storied building
ERE STl SARA

TRADE THEORY
Which is the height of socket outlets to be fixed from the floor level as per IE rules?

IE % Fgwt % SR B8 TR I 79 5T o a1 Gihe 3M3cdie 31 $HaTs o 82

Al : 150 cm
150 cm

A2:130 cm
130 cm

A3:100 cm
100 cm

A4 :60 cm
60 cm

TRADE THEORY

Which colour wire is recommended for earth connection as per ISI code?

ISI HIS & TR Gl H1aRM & fore e 31 % aR &1 RyIRRre st g2

Al :Red
ord

A2 : Green
el

A3 : Black
pIdl

A4 : Blue

TRADE THEORY

What is.the minimum internal diameter of a GI or steel pipe used for pipe earthing?

G1 I1EIT UISY & A 3Midies S BT JugiT urgy Sifdf & fore an fvan s 82

Al :12.5 mm
12.5 mm

A2 :18 mm
18 mm

A3 :20 mm
20 mm

A4 : 38 mm
38 mm

TRADE THEORY

What is the megger reading in a dead short wiring installation?

0.00
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37

38

36

37

38

38 YT I St # AR SfEnn g

Al : 0 MW
oMW

A2:1 MW
1 MW

A3 :500 MW
500 MW

A4 : Infinity
Infinity

TRADE THEORY

Which classification watt hour meter comes under?

P T iR ale 3R Hiex F 3faifd 3marg?

Al : Deflecting instrument
g 9o

A2 : Indicating instrument

Hovd ¢ arer I

A3 : Recording instrument
BICEE

A4 : Integrating instrument

TSIgd B arell I
TRADETHEORY

Which of the following electric quantities can you measure with @ movifig coil instrument?

FrferiRad 5 9 1 9 faggd T 34 Ue Teid gU $ed Gre- FHY Jahd 5?2

Al : DC currents and DC voltages
DC ¥R137 3R DC drees

A2 : DC and AC currents
DC 3R AC YRT3T

A3 : AC voltages
AC

A4 : AC currents
AC YRSt

TRADE THEORY

Which instrument is used to measure the ripple voltage?

et diee™ &1 7R & fore fovg SuesRor &1 IuanT fban o 82

Al : Multimeter in voltage range

el ¥ o

A2 : DC voltmeter

DC diee Hiex

A3 : AC voltmeter
AC diee HieR

A4:CR.O.
C.R.O.

TRADE THEORY
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40

41

42

39

40

41

42

Which is the recommended height of the light fittings to be fixed from floor level as per IE rules? 1.0

IE % AR HRTe TR | 00 31 ST arei Uebri it &t Sr=iflia Sams @ 89

Al:1.30m
1.30 m

A2:2.00m
2.00 m

A3:225m
2.25m

A4:25m
2.5m

TRADE THEORY

A single range wattmeter is used with instrument transformers. The current transformer has a ratio of 6:1 and the potential 1.0
transformer has a ratio of 3:1.What is the multiplying factor? It

T Thd U7 greHiex HT STTNT SUHRU SABTER P AT 6T ST ¥ | IeAM SRIBTER H 6:1 T SUTT 8ane SIR e
TIAWTER BT S(UTd 3:1 I § 170 SR &1 87

A4:18
18

 TRADE THEORY

To keep the continuity of serial lamp set circuit even across the,fused bulb it is customary to connect a device across each bulb asa | 1.0
precaution. What is the name of such device?

RS §68 & UR 1t Hifad oy e gfdhe @t ARG e & o Tefiard & dR R Ude 9o & U farsy & sie &1
fYaTSl 81 & USRI BT 1H 1 82

Al : Thermistor
A2 : Sensistors

A3 : Voltage,dependent resistor

R sy
A4 : Flasher
TRADE THEORY
What precaution is to be taken before disconnecting the ammeter from the terminals of the current transformer at working? 1.0

P R FAHM SIHTIR & <fHia ¥ THieR & fetdmaae S ¥ Ugd 1 Qg sRa-! anfee?

Al : Earthing the secondary of CT

CT 3 Yot arsfEn o1 eiftfr

A2 : Short-circuiting the terminals of the CT before disconnecting the ammeter

TR ) fewpiaae 31 A Ugd CT & efifae o) 9id fdbe e

A3 : Switching a high resistance shunt between terminals of CT after disconnecting the ammeter

THHIR B feTpinae B F 918 CT P <l & §19 T 3= e UfaRIYD T

0.00

0.00
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45

46

43

44

45

46

A4 : Disconnecting primary from supply

M | TS aTEfET @t fewpiiae &

TRADE THEORY
Which wattage lamps are fitted with edision screw type holder? 1.0

UfEE &P 215U Biee] A S A arequy oY fibe fbu o &2

Al : Below 100 W

100 dic &

A2 : Between 100 to 200W
100 ¥ 200 dc & &

A3 : Between 200 to 300W

200 ¥ 300 dic & &

A4 : Between 300 to SOOW I
300 ¥ 500 ITe & o

TRADE THEORY

Which type of extinguisher must not be used on electrical equipment or installation under fire ? 1.0

3T & T farofell o SUHRUT AT RITYAT TR o THR &1 T BT I BT SUART To! [T JHLANET?

Al : Foam or Liquid
BIH a1 dRA

A2 : Carbon dioxide
PHIe TEHTRTZS

A3 : Dry powder

A4 : Vapouring liquid (CTC)
I o (2t 4

TRADE THEORY

Which is not a cause for electric fire? 1.0

1 foreTelt & 3177 BT HRUT T 82

A1 : Wrongly rated fuses
T aid 4 s Bl

A2 : Loose conneetion

e TegR]

A3 : Damaged insulation between line and Neutral

IS Y =ed & i efavd TgaeR

A4 : Phase reversal in 3 phase system
SHARIT IeTe H A ST Yuredt

TRADE THEORY

What is the first step should be taken to rescue a person who is in contact with live wire? 1.0

e U fd &1 T & [T Ug el HeH o1 81T 11T St 184 IR & YU | 82

Al : Call for doctor immediately

Ilaex DI gd garT

A2 : Pull him away from live wire holding his hand
L9 AR ° g8 Hiar

0.00
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50

47

48

49

50

A3 : Isolate him from the live wire

AR Y ST HAT

A4 : Shift him to Hospital
I RIS g

TRADE THEORY

What is the reason, aluminium conductor is larger in cross sectional area than copper for a required current carrying capacity?

FT BRI 8, TGHIH HSdex U AR JHT a8 &l & oY aid &1 ga-T § 1 SaRed 89 § 98182

Al : Aluminium gets heated up more than copper

A2 : Resistivity of Aluminium is greater than Copper

TRl die ¥ 3ifi® 3

A3 : Aluminium is mechanically weaker than copper

Tifi® T A qid &I g § SHAR

A4 : Aluminium is cheaper than Copper

AT i & T g

TRADE THEORY
What is the reactance of a 2 henry choke coil at 100 Hz supply?

100 Hz 39fd W 2 7 e sige &t wfafsar aam 82

Al : 100 ohm
100 ohm

A2 :216 ohm
216 ohm

A3 :718 ohm
718 ohm

A4 : 1256 ohm
1256 ohm

TRADE THEORY

What is the diameter of pilot:hole neededdfor fixing screw?

U Bl Sl B & T UeIe Ba BT AT T2

Al : Diameter.of the screw just below its head

S 9 U BT

A273to 4 mm for all screws

Hm@$m3 T 4mm

A3 : Diameter equal to the gauge of the screw

T ol & TR AN

A4 : Average core diameter of threaded portion
YSS YT BT 3N T ST

TRADE THEORY

What is the point angle of chisel used for chipping aluminium jobs?

Ceqtfign Foidl §) e & R a1 Rg S a2

Al:30°
30°

1.0 0.00
1.0 0.00
1.0 0.00
1.0 0.00
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54

51

52

53

54

A2 :45°
45°

A3:50°
50°

A4 :60°
60°

TRADE THEORY

What is the nature of work for which a flat cold chisel is not suitable? 1.0

FTH Bt Upia I § e e v guTe 381 &+ Suged el 82

Al : Remove metal from large flat surfaces

I Tag! I urg Ferd

A2 : For squaring the corners of jobs

S & DI B gl HIAT

A3 : Chip excess metal off castings

W sifaRkad 41g 1 g

A4 : Chip off excess metal of welded joints

IfcET Sist & sifafkad o1 &1 g

TRADE THEORY

What are the measurements that can be done from a portable digital multimeter without battery? 1.0

I8 & fom Nidad fefiree Aeciviie @ o1 |19 foby off 9ehd &2

Al : Both voltage and current measurements

el 3R YRT A G

A2 : Except resistance, all other measurements

Ry ufeRIye® & 3= °g

A3 : Only current measurement
Pad YR BT A

A4 : No measurement is possible

B Ty a7 2

TRADE THEORY

Which of the electrical instruments have to be connected in the same manner for measurement? 1.0

T ¥ e fGefdeyd Iusu &) e & e @ SieT S 8?

AT Frequency meter and P.F. Meter

3R pEHIR

A2 : Voltmeter and Frequency meter

A3 : Voltmeter and P.F. Meter

3R pF. HieR

A4 : Wattmeter and Voltmeter

el Hie 3R dieedieR

TRADE THEORY

What is the application of a potential transformer? 1.0

T GHITAd IR T w1 32
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55

56

57

58

Al : Energy meters to low-voltage lines

HH dieesl a3 P T Ioif Hiex

A2 : Voltmeters to high-voltage lines

I glee™ 13 & AT diee Hiek

A3 : Voltmeters to the transformer primary

TR &1 Ui arsfe & i deediey

A4 : Instruments to bus bar of distribution panel

R0 O & 99 IR & forg SuesRur

TRADE THEORY
Which is the use of megger?

TR BT IUTNT B9 1 82

Al : Measure insulation resistance

YA UIcRIY BT AT

A2 : Measure low resistances
HY YfaRIY &1 9

A3 : Measure earth resistance of earth electrode
3rf gaaers @1 o Uiy HT HT

A4 : Check continuity of conductor / circuits when power is on

farorelt a1 811 IR e Wfdhe @t AR &1 o AT
TRADE THEOR? __= 4

Which one of the following properties does a voltmeter have to make it suitable for measuring voltages in circuits with high
resistance?

Faffed & @ 1 91 70 U dTecHieR &1 I UfoRIY J[a wide | diecs I HIOA 3 o Iugad a1 82

Al : The internal resistance of the voltmeter should be as:highyas/possible

3R dieeHleR Bl TURTHG I= IRIRIY SRy

A2 : The dielectric strength of the voltmeter'should®be high

dreetier 1 3o S gaildee WIS 1fee

A3 : The scale of the voltmeter has to beamiformly graduated

THM 30§ Jec Hiex HLUHM] 3ifbd 8T TRy

A4 : The internal resistance of the voltmeter should be as low as possible

PTG TfeRIY R v 8 I HH HRA1 T

P \¢ TRADE THEORY
What.is'the specific gravity of electrolyte at fully charged condition?

T AR AT ot 7T RUf A 3aaeiarse 1 ARk ea g

Al:1.150
1.150

A2:1.200
1.200

A3:1.250
1.250

A4:1.300
1.300

TRADE THEORY

Which measurement is possible from a 4% digit multimeter?
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4Y, 3je AeeHIeX q DI T AT THT 22

Al : 3 digits to measure the value and one digit to indicate the polarity

el Y A0 & 1T 3 3ich 3R ¢fad &1 ST A7 & o U o

A2 : 4 digits to measure the value and half a digit to indicate the condition of the battery

4 3fe YT &1 A0 & oy ok Fedt ot FRufay 1 S &=t & forw sren sis

A3 : 5 digits to measure the value

T & A0 & oL 5 i

A4 : 4 digits to measure the value and half a digit to indicate the polarity

el 1 HIYA & 1T 4 37 TR Yadl &Y $F1d B & g aner 3icp

TRADE THEORY
Which type of load is connected in the circuit if the power of is 0.8 leading? 1.0

T 0.8 3} A 8 Al 75 UpR BT YR Tfdhe A T8I 82

Al : Pure capacitance

R

A2 : High inductive and low capacitive reactance

F= Ssfded 3R &0 Tyt ufafsa

A3 : High resistance and low inductive reactance
I UfRIY SR HH ST Ufafohar

A4 : Low inductive reactance and high capacitive reactance

FY Ssfaca ufafsa ok S GeuRa ufafssar

TRADE THEORY:

Which value of the shunt to be added to measure 5A from a 15 mA MC ammeter the coil resistance is 5SW? 1.0

15 mA MC THHICR ¥ Hed UfRIY sA IO & foT =ie & 39 95 &1 5Q e <1 82

Al :5mQ
5 mQ

A2:15mQ
15 mQ

A3:45mQ
45 mQ

A4 :75 mQ
75 mQ

TRADE THEORY

Which ammeter gives accurate reading if the load current is 5A and 10A? 1.0

3R TS BT 5A 3R 10A & dl 1 1 THiex gde g aarz?

Al1:0-10A
0-10A

A2:0-15A
0-15A

A3:0-20A
0-20A

A4:0-25A
0-25A

TRADE THEORY

0.00
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In a small work shop a 5 A energy meter is connected through a CT. The meter reader recorded 1000 units for a particular month 1.0
but, the meter shows only 25 units. What is the current in primary of CT when a current of 4 A is flowing through the meter ?

TP BIC Y B B ghM B TP 5A S0l Hlex Td HieT & A1 | Fo1 g 1 Hiex e 7 il gy 7 & 21w 1000
Wéaﬁiﬁ%éﬁﬁﬂmﬂamzsmﬁm%l 4A S IIHF B R G & Uiyl § adaq | g1 Hiex &b
MEH AT R/

Al : 40 Amps
40 Amps

A2 : 160 Amps
160 Amps

A3 :200 Amps
200 Amps

A4 : 250 Amps
250 Amps

TRADE THEORY

What is the other function of instrument transformer rather than step down the current and voltage of higher values for 1.0
measurement?

Y & o = Hedl & acHI 3TR diedsl Bl B3 PR P SOl T SRIBTHR BT 3 BT 31 8?

Al : To decrease the current and voltage to measurable value of 5 A for ammeters and 240V for yoltmeter

YRT 3R dlecol &1 HH B & g Tfier & 1w 5 TrfieR ok deetiier & o 240 dfe 1 Awd et o1 g

A2 : To isolate the instrument from high current / voltage lines there by reducing the dangerte.men and equipment

T 3R IUFRT & oY TR Bl HH PR 981 I TaH / Ale™] o1 & b ST BT

A3 : To increase / decrease voltage and current according to variable inpuf

TR AYC F ITHR dlece AR YRT H g / HH a7 & forw

A4 : To reduce the size of instruments such that the cost could be minimum
[ % SHTHR DI HH HIAT dlich AN FrTH 61 T

'TRADE THEORY
What is the pressure coil rated voltage of a 415V 50Hz A€ 3phase 3 element energy meter? 1.0

415V 50Hz AC 3phase 3 Tcd Gl HIe BT URR PIScT 3¢S dleesl T 32

Al : 230 Volts
230 Volts

A2 : 240 Volts
240 Volts

A3 :415Volts
415 Volts

A4 : 440'Volts
440 Volts

TRADE THEORY
Why LCD display is most commonly used in battery powered digital multimeter? 1.0

T} o] et o1 ST St Anferd fefiied Aediier # Ta 3ifies fopar sar 82

Al : Mains power is not available every where

A UTGR & T8 SUas e 2

A2 : It requires only a small amount of power

41} A § wfed oF srawadarn

A3 : LCD can be read even in dark
T DY AR T i veT S Thar 8

0.00

0.00
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A4 : LCD has a bright display

TRADE THEORY

What will happen if the grinding machine is rotating in opposite direction?

gfe drg arelt wefi= faudd e & g k@ & A dm

Al : Grinding operation is not possible

S IRg T

A2 : Sparking while grinding will be more

IEfET R T

A3 : Grinding wheels will be damaged

TS it &ffcrd g e

A4 : Grinding wheels will become loose and may fly off

TRADE THEORY

Which one of the following is identical in star and delta connection?

Fafifed @ $19 9 %R 3R el HeH § A 22

Al : Phase displacement between each phase

Ul Bl b o Y

A2 : Equality between line & phase currents

AR B YRS & S FAE

A3 : Equality between line & phase voltage

A 3R By e S o1F FHMT

A4 : Availability of neutral point

Yed farg B Iuasar

y TRADE THEORY

Which is not equal in star or in delta connection. of 3"phase motor winding?

3 TROT Hiex AT $ TR 1 Ieel HARE J S I THH 61 82

Al : Resistance of each winding

TP ST BT ufaRiy

A2 : Impedance of cach winding

TP RS Prged

A3 : Phase displacement between each winding

TP ST & s By =T

A4 : Resistance across the line terminals of each connection

T Boa ob TlTg cliel Uiy

TRADE THEORY

Your are testing an energy meter of 240 Volts, 50 Hz, 5 Amps, 750 Rev/Kwh for its performance with some load. When the disc 1.0

rotates 100 revolution in 10 minutes what is the energy supplied?

3T $B UR & WY 3 Y= & T 240 Fleel 50 §EOT 5 THHT 750 Rev/Kwh F il TR BT U0 IR R § | d {$%h

10 foFTe 7 100 IFBR TIE § @ Soif 1 3Myfel am Bt 82

Al :7.35Kwh
7.35 Kwh

A2:1.33 Kwh
1.33 Kwh

0.00
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A3:0.133 Kwh
0.133 Kwh

A4:0.0133 Kwh
0.0133 Kwh

TRADE THEORY

Which steps to be taken to operate a motor again if it is thoroughly wet due to heavy rain?

gfe i SR & SR g Men g & fih @ Hiex Iam & N 19 @ HeH I3T oM AT

Al : Blowing hot air by using air blower

TR AR F IUNT Y T ga sedt 2

A2 : Placing it in an oven

39 3fiaT | TR

A3 : Wiping it dry with a clean cloth

TS U6 HUS A e Jai

A4 : Keeping it under a ceiling fan

2 RiferT B & 1 T

TRADE THEORY

What is the effect in a DC generator if the brush tension is excessive?

S P a1 BT SAYBAT B TR SN SFRER H 1 UHTE TSl 82

A1l : Slow down the speed of the machine

ERIECIRIREIR Iy

A2 : Decrease the output voltage

3TSHYC Jecs | B!

A3 : Increase the output voltage

3TSHeYE dlees &

A4 : Overheat the commutator and wear out/he surface

PRI B 3R Fle B 3R g B! ferdiae B

TRADE THEORY

Which step is to be taken to feconditionia badly wornout commutator of a DC generator?

T DC SRR & TRIE UgA §U BHIEeR P14l I T I |1 el Sa1a1 ST 82

A1l : Replace the,armature

TR P sea

A2': Replace the commutator

A3 : Turn the commutator on a lathe

TH TRIG IR R B -1 Y

A4 : Clean the commutator with CTC
CTC ¥ HRICTR BT AIh Y

TRADE THEORY

What is the reason if a DC shunt generator supplied 220V to a lighting load, suddenly reduced to 8 volt?

T HRUIY TR TP ST /e TReR = YBIRI TS PR & 31T 220V BT SMYfd BT 3 8 Tlee db HH 1 T2

Al : Short in armature circuit

A2 : Open pigtail in brush
S H YA

0.00

0.00
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A3 : Open in armature circuit

Ja sfftfR wfdhe

A4 : Open field circuit

T fores widhe

TRADE THEORY

According to IS recommendations, the switches should not be fixed at a height lower than a certain height from floor level. What is | 1.0
the minimum height?

1S 3 RN & SR, &g &1 1foa wR @ v Ffld $ars 3 o0 $a8 W a9 = &1 91 anfe | g-ay $ars a1 g2

Al : 1.0 metre
1.0 metre

A2 : 1.3 metres
1.3 metres

A3 : 2.0 metres
2.0 metres

A4 : 2.4 metres
2.4 metres

TRADE THEORY

Two incandescent lamps of 125 V /40 W and 125 V / 100 W are connected in series to a su;ply voltage 0f 230 V. What happens due | 1.0
to this connection?

125V /40 W 3 &1 ATt U 3R 125 V /100 W SRGe & 230 v F Y[ dieesl & S &1 39 UaY & HRUT 1 Il 82

A1l : The drop across the 100W lamp will be higher than its rated voltagg, therefore it will fuse

100 dTe P o7 H Gl $TU 30 IS alecel F S BT, forsh $RULaE WISl g1l

A2 : The lamps will be fused immediately because they are rated for, 125V

MY UheH U IS B S iifcs S8 125 dieeol &, ford Xe fovar mar g

A3 : The drop across the 40W lamp will be higher than its rated voltage, therefore it will fuse

40de & A H diecs ST 30 XCS dicast | MY 1, o BRUI I8 T BTl

A4 : The 100 W lamp draws highep/current, therefore the 40W lamp will be fused

100 dTe T A 3 Pie Wil TURIT 40 afe BT AT ST TS ST

y ) X NUMERICAL ABILITY AND REASONING
What is the value of 135 times 247 ? 1.0

135 x 247 HIHHEFTE?

Al :33345
33345

A2 :34345
34345

A3:35345
35345

A4 :36345
36345

NUMERICAL ABILITY AND REASONING
What is the value of 30% of 600 + 70% of 400? 1.0

600 T 30% + 400 DT 70% Wmaﬁ@?

Al :360
360

0.00
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A2 :460
460

A3:560
560

A4 : 660
660

What is the value of X, if 966/x = 193.2 ?

3R 966/x = 193.2 A X BT HH 133

What is the value of 378+ 7/ 0.7 ?

378 +7/0.7 BT HIH Id33:;

Al:71.14
71.14

A2:73.14
73.14

A3:75.14
75.14

A4:77.14
77.14

What is the value of V15214 317

V1521 + 31 S HME Iq138;

Al:50
50

A2:60

A3:70
70

A4:80
80

NUMERICAL ABILITY AND REASONING

NUMERICAL ABILITY AND REASONING; A

NUMERICAL ABILITY AND REASONING

NUMERICAL ABILITY AND REASONING

What is the value of 15% of 550 + 45% of 440?

550 BT 15%+ 440 DT 45 % DT HIT I 37

Al:280.5
280.5

0.00
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A2:2825
282.5

A3:284.5
284.5

A4 :286.5
286.5

NUMERICAL ABILITY AND REASONING

What is shafi income, If he spends 60% of salary for his family, 15% for his children, 15% for other expenses and remaining amount | 1.0
of a Rs 6,000 is saved?

3R YW 3Tt TIGATE BT 60% T TRAR W, 15% 30 Tl UR, 15% GOR Gl UR a1 /Y § 6,000/~ T 90 HaT g al
I Pl dReATE T3 -

Al :Rs 55,000
55,000 %.

A2 : Rs 60,000
60,000 .

A3 :Rs 65,000
65,000 2.

A4 : Rs 70,000
70,000 2.

NUMERICAL ABILITY AND REASONING
What is the value of (3m + 5n) - (Sm - 6n)? 1.0

(3m + 5n) - (5m - 6n) T A FT 82

Al :2m-1ln
2m- lln
A2:2m+ 1ln
2m+ 11n
A3:-2m+11ln
2m+ 1ln
A4:-2m- 1ln
-2m- 11n

NUMERICAL ABILITY AND REASONING

What is the area'of rectangle in cm?, If breadth of the rectangle is 7 cm and length is twice the breadth of the rectangle?

IR T AT SIS 7 om TUT TS, TGS B AT § Al AT BT &AHA om? TAZA?

Al : 96.¢fm?
96 cm?

A2:97 cm?
97 cm?

A3 : 98 cm?
98 cm?

A4 : 99 cm?
99 cm?

NUMERICAL ABILITY AND REASONING

How much 8 turners earn, If 6 turners earn Rs 300? 1.0

TR 6 TR 300 T. HHIA & dl § TR fp=T HHTG:
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Al :Rs 325
325°%.

A2 :Rs 350
350°%.

A3 :Rs 400
400°%.

A4 : Rs 450
450°%.

NUMERICAL ABILITY AND REASONING
How long will 6 similar pumps take to fill this tank,If 3 pumps take 27 minutes to fill up a tank? 1.0

3R 3 T T &b bl HRA H 27 e A § Y 6 7oy It & 1 WRA H fobam owg ot

Al : 9 minutes

9 fiFe

A2 : 12 minutes

12 fiFe

A3 : 15 minutes
15 fore

A4 : 18 minutes
18 e

NUMERICAL ABILITYAND REASONING
What is the value of 3x (4x -2y +5)? 1.0

3x (4x -2y +5) BT A FT 8?2

Al : 12x2 + 6xy -15%
12x2 + 6xy -15x

A2:12x2 - 6xy + 15x
12x% - 6xy + 15x

A3:-12x2- 6xy - 15x
122 - 6xy - 15x

A4 : -12x2 + bxyhl5%
-12x2 + 6Ry.t 15%

NUMERICAL ABILITY AND REASONING

How much amount would each person get, If an amount of Rs. 61,020 is distributed equally amongst 45 persons? 1.0

3R 61,020 F. 45 AT A SRIER Fi¢ WY dl TS B! fba <. fiel:

Al :Rs. 1156
1156 3.

A2 :Rs. 1256
1256%.

A3 :Rs. 1356
1356 2.

A4 : Rs. 1456
1456 °%.

NUMERICAL ABILITY AND REASONING

0.00

0.00
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How many Kgs of tea powder will it require for 30 days, If a tea shop requires 45 Kgs of tea powder for 15 days?

;ﬁ%ﬁo‘&ﬁmaﬁwaﬁ 15 Tt 1T 45 ks T B UTSSR B SRewd & 1 39 g b 30 31 F g fopa uesx

Al:75Kg
75 .

A2:80Kg
80 fop 7.

A3:85Kg
8s fap .

A4:90Kg
90 for 7T,

NUMERICAL ABILITY AND REASONING
How much did he sell the motor bike, If Mr.Sathish bought a motor bike for Rs 45,400 and then sold it at a loss of 15%?

eI A T TGS 45,400 . B WIS TUT BT 15% B1 W 37 &N | 186 1 faeha Yo7 §arsd -

Al : Rs. 38,290
38,290 .

A2 :Rs. 38,390
38,390%.

A3 : Rs. 38,490
38,490 3.

A4 : Rs. 38,590
38,590°%.

NUMERIGAL ABILITY AND REASONING

How many days will be taken to assemble 48 machines, if a mechanic assembles 8 machines in 2 days?

g U AP 2 T T 8 A=A BT SRl aRang.al 48 AN T SR B H fham fod @i

Al : 10 days

10feE

A2 : 12 days

12f@

A3 : 14 days

14fea

A4 16.days
1677

NUMERICAL ABILITY AND REASONING

What is the side of square in cm, If the area of square is 961 cm?2?

Ife; freft avf 1 st 061 cmZ%?‘ﬁaﬁaﬁHﬁTcmW‘?

Al:30cm
30 cm

A2:31cm
31 cm

A3:32cm
32 cm

A4:33 cm
33 cm

10 000
;’1.0 0.00
10 000
10 1000
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NUMERICAL ABILITY AND REASONING
What is the length of rectangle, If the perimeter of rectangle is 248 mm and breadth is 50 mm?

Tfe fHdt 3mad &1 URHAT 248 mm 3R ST 50 mm & Y M B TS Fd1ST :

Al:70 mm
70 mm

A2 :72 mm
72 mm

A3 :74 mm
74 mm

A4 :76 mm
76 mm

NUMERICAL ABILITY AND REASONING

In how many years the sum of Rs.6000 amounts to Rs 6960 at the rate of 8% per annum?

6000 . Y 8% I R T 6960 %. T H foraT1 THg T2

Al : 1 year
1

A2 : 2 years
299

A3 : 3 years
39y

A4 : 4 years
499

NUMERIGALABILITY AND REASONING

What is the principal that earns Rs 300 as simple intexest in 22 years at 10% per annum?

foram A BT 2 T8 H 10% AN & ST 300 F. EAM2

Al :Rs. 1000
1000 %.

A2 :Rs. 1100
1100 .

A3 :Rs. 1200
1200 2.

A4%Rs. 1300
1300°"

NUMERICAL ABILITY AND REASONING

Which direction Mr.Basha facing now, If he walked 10 m towards east took a right turn and walked 15 m and again he took a right
turn and walked 25 m?

TfE SR 10 m & =M H B 15 m <10 FUT AR 25 7). <10 T gt 3@ 9! o= w82

Al : South

EAl

A2 : North

A3 : South - West

gigorufim

1.0

0.00

0.00

0.00
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A4 : West

NUMERICAL ABILITY AND REASONING
What price it should be sold to get profit of 10%, If a plot is sold for Rs 19,600 with a loss of 10%?

& T WiTe BT 10% B W 19,600 . T I 7T & @l 10% TATH T B P 1A e Hed TR =01 ST =1fey «

Al : Rs. 24,200
24,200,

A2 : Rs. 24,400
24,400%.

A3 :Rs. 24,600
24,600 2.

A4 : Rs. 24,800
24,800 .

NUMERICAL ABILITY AND REASONING
What is the value for 75a — (-20a)?

75a — (-20a) BT HF FATZA?

Al:-95a
-95a

A2:95a
95a

A3:-105a
-105a

A4:105a
105 a

"NOMERIGAL ABILITY AND REASONING

What is the value of 15 m3 n*/ 5 mn?

15 m? n/ 5 BT UM Fa8A?

Al:3m?n’

3m?n’

A2 :3 mn?

3 mn?

A3:3m*n’

3m*a’

Ad:3m?n’
3m?n’

NUMERICAL ABILITY AND REASONING

What is the value of Y, If 13y2+ 9=1062?

Y &1 HF §129, TG 13y2 + 9 = 10622

0.00
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-No. Correct Answer Key
1 A1
2 A2
3 A2
4 A1
5 A4
6 A4
7 A2
8 A1
9 A3

10 A4

1M A3

12 A2
13 A4
14 A3
15 A1
16 A4
17 A1
18 A2
19 A2

20 A4

21 A3

22 A2

23 A3

24 A1

25 A4

26 A3

27 A1

28 A4

29 A4

30 A3

31 A4

32 A2

33 A2

34 A4

35 A1

36 A4

37 A1

38 A4

39 A3

40 A4

41 A1

42 A2

43 A3

44 A1

45 A4

46 A3

47 A2

48 A4

49 A4

50 A1

S.No. Correct Answer Key
51 A2
52 A4
53 A2
54 A2
55 A1
56 A1
57 A3
58 A3
59 A4
60 A2
61 A1
62 A2
63 A2
64 A2
65 A2
66 Ad
67 A1
68 A4
69 A3
70 A1
71 A4
72 A3
73 A4
74 A2
75 A3
76 A1
77 A2
78 A3
79 A4
80 A3
81 A1
82 A2
83 A3
84 A3
85 A3
86 A1
87 A2
88 A3
89 A4
90 A4
91 A2
92 A2
93 A3
94 A2
95 A3
96 A4
97 A1
98 A2
99 A1
100 A2






